EXAMEN DE MEJORAMIENTO DE CARRETERAS II
PARALELO 2
TEMA 1
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TEMA 3
[image: C:\Documents and Settings\User\Configuración local\Archivos temporales de Internet\Content.Word\3.jpg]

image1.jpeg
74
a = Foon Crlsocd Tools o0 peialte
5 = 2 %
Pe = o+ 7280 Le=-exa X=ba | 3G |
Prre oF P14 # 2l 2t 204
= = 3% Aottt 00 Lo B o 500 &= ,\/_7 L A Box
2 ;——‘S"/b ;L'd’x{!o+s<>o ,:"\,1_)(,4 Haoe > k(s
8 A7 Fa‘l’ = /506 e, | éLp e ifs 4+ X
'€ = 0.63574 157 1 Bt bentr  Rpi: V°
< = ,,‘__Oﬁﬁléf'* i \/ : e+ (e
[E~ 2.3 %] fx~ 70.%% s | 2
51 Ll o~ Raua = 105,33
= ‘E_‘_—. 7(/, 5‘1 ’;D\Z o 1 4 LP D” &' !
v APl / i
Duml 72726+ Llian) < 72034 4 | U500 O T '\p@_,ﬁ
8 ' J\U Qc,./‘q v \‘”_;«'v 4 4
Blo 2y g = Z2(19.84) = RIS 4 on T Q‘*\D.‘{\B N
S Kiand /11 == 3¢
s D s
- 7 75 ~ o F= e A 0l
= 17 7077 709.9 om £ \(\ b i o
@ = 775,77 |+ 70 '-"‘V = ?2‘5?", /.Vh 0.7

(4

f%é:(,% Sl TN
A=0+ Fo4™° 15952
b Ok £7F 754,13 15399 | ,
P\L co+3E4% | 153,98 (48309 95350 |/
Je c_o_}7257“ 754, qsq\ 75 5.5 2382429 |
|
!

= e : ‘j o Z a §

| ’bq "+£ 954,83

cueT Do+ #2971 154,269 153 vo 457 539 |
i b’~ o+??2” ®1.78 | 150.2y ff‘ff‘? 28
B b | "
crMT ek 0339¢™ | 150.91 | 150.65 ' 144,94
Pt o+sq77"| 28044 | 15 ool 19436
BiO0+%071% | 9M9.52 | 199,52 4 149.33

A= c+318% | 748,96

HESS TSRS

148.90 4 148.36

997717000





image2.jpeg
Z) Wros-

\\/‘ @ //‘ 17 ;/\ oo ) :
Aveon - ¢ VAGumen - 1 N HEmE
Noscisns . | corte, Relleno | goete W [ Zellewo (9] ordenade. | pellovo (ias éyyf&hﬂ[\{
Ot oo 100, o 0,0 [ | S
> RSO | ‘ 2o LY
o100 250, o j 350 | | )
04040 320, 0, | 2260 l P
i 7 | HUL“L(‘;.-; j
o060 oy 13300 15 T
32),\'1>, /\ 2664, 3 “
010%0 : xm/;bs,(‘,a \ TG | |
/ ! 000 | o (] 36 | =
Gy s o ‘ 339,63 ———Ad
d > | Nileol ) 2329 7 « 1
©4120 E10) ‘ - 3430,37 ‘ —_.
> 1124805 | 2qug af 2050,3%2. Y- 4
LG 340 250 /| - 34730,39 |
> 2546.93)| 4447 O
04160 100 | C U~ |simm0 a0
2S00 ] it = i
o41%0 Jso > \ ¢29.¢3 <
\ /
NIRRT S %50 9¢
otaco 190 400 . \ 63033 | 7 3
|
\ / ' i SO
/ / \
4 @ c:z dppA28v (Zc) ~ 3300 P ;
\)Y= A‘Zwﬂz\v*L /(7; g
B \)/ & < 750432 (22) : SO W

Z

/U'

\)C‘ AEI*"\CZ{‘/L; '.
z ‘ 0 = 2
2 \ 7
Ve Ae U\ . :
At be el b d o 2004 340
Vo= (3a0y
lee A" v, pravay
AiRR

t ﬁUC: !90‘)\2 (%[2) = ’-)qo"_)c—\

@ Ve - M\o*’sbo(w) -~ Y000

2

@ Ue= \oolesp (0) = 230

®

Z

Taptia He0 +310
Ao 2

be- S__)E, (k) 2388, < Ve: o
40470 310+ dbo

© o= %ot2)0 (20) =

Soo

(2h) = Ra4s 4L

= 320t D (D) = 46T wa”

_\)C’- (3}'032 (‘749/;):!083,% @ Vg = (QQC\?' (%/2) < 2348 05

(*f- = Llue.os -

@ v (01" o) - 259097

ot zso




image3.jpeg
e ‘5\ auucs

d@ A o

:.:Cg;

Q Wy
AR




image4.jpeg
> va—sowm/A

E =600 m e = R
AED
Pr- 235%0 dPsiaft, =200 m
Ps 3 260% 0’ PE 2 o Pry =500
Piy ?220° bo' PI ., a Plu = boo-m
Pxs 770° 0o’ TP:}L’Q\ Plex Yop ‘ L
Xc o = [Ce~ /915 ) et
- ~ 18T |

2B A3

the = 549384 {

/ sy st L \
| 1Pes, = 23%97.51

\ Pras = 14s2.23 43¢
ﬂ’u{;)fwﬁ-&« }}ija %fr\ﬂ?&w/ M/@M ««04'0 %W Af/ﬁzéél'%/
Pexq= 7'1’%‘/751 o P
‘ o 12.4@ 0°3s 46 e T
1t 360 12.49 waddl o e )
y 20 0" 5318 o
1438 0 32.49 L Zrsaiov
20 v <cq'qg” gl g
14 Yoo 52,49 g 2750 22
20 - 0" sl Loall
1+ 4t © EARL ) 3°2% yo
20 s S o vl
A4 Y4 0 1249 o gyl | AfAESE
¥ Ar e : = 0 2502 ’ p ,,\ 1
Pigqa 7+ Y52 ( 1.3 k OLV
I 5 7
=le O'\/e CN
o S *—"‘*:;»"'/?w 055"43 237 O Y sq,v4 o ” ,
A T
LC : 7' '
l ) : s’ 53 Ad
e = W _ 5 2'51.89 d





